Status on SDT simulation work
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Momentum Resolution : Number of SIT layers, without DCHs
+ 1set of SITs + 2set of SITs
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Momentum Resolution : Number of SIT layers, with DCHs
+ 1set of SITs + 2set of SITs
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Momentum Resolution : Number of SIT layers, with DCHs
+ 1set of SITs + 2set of SITs
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Momentum Resolution : Number of SIT layers, with DCHs
+ 1set of SITs + 2set of SITs
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IP Resolution : SDT config.
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Comment

- For the momentum resolution, it looks that
increasing the number of layers does not help

- What else configuration/setting ?

-- Changing air pressure is not performed yet

-- Assuming 2SITs (SDT config.) ,
Changing the position of the SIT3/4

-- Changing the number of DCH hits:
N(layer)=222, cell size=6mm in baseline
> N(layer)=130, cell size=10mm in SDT



